1 .Daily Calculations Questions

I e

12 +19 = 47 + 29 = 337 +129 =
33-13= 151-27= 468 — 199 =
2x0= 3x1l= 8 x 14=

65 divided by 5 = 60 divided by 3 = 96 divided by 8 =

2/4 of 4 = 1/3 of 66 = 2/8 of 96



1. Daily Calculations Answers

I e

12 +19=31 47 +29=76 337 + 129 =466
33-13=20 151-27=124 468 — 199 = 269
2x0=0 3x11=33 8x 14= 112

65 divided by 5 =13 60 divided by 3 =20 96 divided by 8 =12

2/4 0of 4 =2 1/3 of 66 = 22 2/8 of 96 = 24



2. Daily Calculations Questions

I e

44 + 17 = 28 + 123 = 371+ 527 =
35-24= 143 -82 = 424 - 117 =
5x11= 3x14 = 8x13=

40 divided by 5 = 42 divided by 3 = 24 divided by 8 =

2/4 of 14 = 2/3 of 24 = 2/8 of 72 =



2. Daily Calculations Answers

I e

44 +17 =61 28 +123 =151 371+ 527 =898
35-24=11 143 -82 =61 424 - 117 =307
5x11=55 3x14=42 8x13 =104

40 divided by 5 =8 42 divided by 3 =14 24 divided by 8 =3

2/40f14=7 2/3 of 24 =16 2/8 of 72 =18



3. Daily Calculations Questions

I e

45 + 23 = 34 +225= 313 +353=
75-23 = 135-48 = 261-122 =

10x 13 = 3x15= 8x0=

75 divided by 5 = 27 divided by 3 = 56 divided by 8 =

2/4 of 20 = 2/3 of 24 2/8 of 16 =



3. Daily Calculations Answers

I e

45 +23 =78 34 +225 =259 313+ 353 =666
75—-23=52 135-48 =87 261-122 =139
10x 13 =130 3x15=45 8x0=0

75 divided by 5 = 15 27 divided by 3=9 56 divided by 8 =7

2/4 0f 20 = 10 2/3 0f 24 = 16 2/8 of 16 = 4



4. Daily Calculations Questions

I e

11+40= 41+171 = 122 + 345 =
23-14 = 141 -63 = 423 -350 =
5x9= 3x12= 8x14 =

25 divided by 5 = 39 divided by 3 = 104 divided by 8 =

2/4 of 28 = 2/3 of 42 = 3/8 of 56 =



4. Daily Calculations Answers

I e

11+40=55 41+ 171 =212 122 + 345 = 467
23-14=9 141 -63 =78 423 -350=73
5x9=45 3x12=36 8x14=112

25 divided by 5=5 39 divided by 3 =13 104 divided by 8 = 13

2/4 of 28 =14 2/3 0f 42 =28 3/8 of 56 = 21



5. Daily Calculations Questions

I e

12 + 34 = 23+523= 123 +342 =
67—-40= 122 -22 = 314 -249 =
5x7= 3x 12= 8x13 =

20 divided by 5 = 18 divided by 3 = 72 divided by 6 =

2/4 of 22 = 2/3 of 24 = 5/8 of 72 =



5. Daily Calculations Answers

I e

12 + 34 =46 23 +523 =546 123 + 342 = 465

67 —-40=27 122 -22 =100 314 -249 =65
5x7=35 3x 12=36 8x13=104

20 divided by 5 =4 18 divided by 3 =6 72 divided by 6 =12

2/4 of 22 =11 2/3 of 24 =16 5/8 of 72 =45



